A,

32

3 [™~zs5



1

Ref# Part# Description Context Note
NSP ASSY, Enclosure
NSP BACK PANEL

© 00 N O Ol & DN

W W W W W WwWWwWWwWwWwwMNDNDNDDPNDDNDDNDDDNDDNDDNNDNPEPEPERPRPERPERPRERERRPRPRE
© 00 N O O WNPFP,P OOWOoOONO Ol WDNPFP OOO0LWNO O B wWDNPEFE O

195667GS TRANSFER SWITCH, 100A

----- HHS, Trilobular, #10 - 32 x 1/2  Purchase locally
198725GS BREAKER Circuit

----- WASHER, Ext. Tooth, #10 Purchase locally

----- HHS, Trilobular, #6- 32 x 3/8 Purchase locally
193664GS  INSULATION, Dead Front

197279GS CONTROL, Board
197979GS SPACER, PCB Board, 1/2
198722GS BREAKER Circuit
198721GS BREAKER Circuit
198723GS BREAKER Circuit

NSP BUS, Double Rw Brkr Mntng
204511GS COVER, Circuit Board

B4857GS FUSE
192151GS FUSE HOLDER
NSP SPACER
NSP BAR, Neutral Connection
B4986GS DECAL, Ground
NSP GROUND BAR
----- SCREW, Trilobular, #10 - 32 x 3/4 Purchase locally
205108GS DECAL, 100A, ATS
204433GS SPACER
190992GS DECAL, Warning Shock
190984GS DECAL, Fuse
192597GS DECAL, Sensing, Utility
----- WASHER, Lock 1/4 Purchase locally
----- NUT, 1/4 - 20 Purchase locally
193159GS DECAL, Reinstall
----- PPHMS, 6-32x 3/8 Purchase locally
----- HHS, Trilobular, #8- 32 x 3/8 Purchase locally
----- WASHER, Lock #6 Purchase locally
204431GS WIRE - R
204432GS WIRE - R
202841GS SUPPORT, Locking, Crct Brd
196355GS DECAL, CT Warning

197198GS DECAL, Wire Circuits

197294GS DECAL, Contacts Rating

202267GS MANUAL, Operator’s Parts Not Illustrated
195728GS CURRENT TRANSFORMER  Parts Not Illustrated

Foot Note



